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You are allowed to use a scientific calculator on this exam.

1.  Simplify.
V90 + V250
A) 8V10
B) 2v85
C) 3410
D) 10v3 + 10V5

2. Simplify completely.
V5(v3 +V5)
A) 25 ++15
B) 543
C) V5 ++/15
D) 5++15

3.  Simplify completely.

A) 3v7
B) V7
Q) 1
D) 7

4.  Simplify.
—14a®b®
—2a*h2
A) 7a?b3

B) 7al2h®
C) 7a*b*

D) 7a*b3
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You are allowed to use a scientific calculator on this exam.

5.  Simplify.
(3x%y*)’

A) 3x6y12
B) 9x6y12
C) 27x5y7

D) 27x%y12

6.  Simplify completely.
(6x2 +7x —3) — (—2x2 + 4x — 5)

A) 4x% +3x + 2
B) 8x2 + 3x + 2
C) 8x% +11x + 2
D) 8x?>+3x—8

7.  Multiply.
Bx—5)(x* —6x +4)

A) 3x3 —23x2 +42x — 20
B) 3x3 —18x2% + 12x — 20
C) 3x3 —23x% +12x — 20
D) 3x3 — 18x2 + 42x — 20

8.  Simplify completely.
30x° + 8x7 — 2x°
_2x5

A) —15x* — 4x2

B) 15x* +4x2? —1
C) 30x? + 8x7

D) —15x* —4x2 +1

9. Factor completely.
18x3 — 200xy?

A) 2x(3x —10y)(3x + 10y)
B) 2(9x3 — 100xy?)

C) 2x(9x — 100y)(9x + 100y)
D) 2x(3x — 10y)(3x — 10y)
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You are allowed to use a scientific calculator on this exam.

10.  Which of the following is a factor of the polynomial?
2x% +11x - 21

A x+7
B) x —7
C) 2x+3
D) 2x—7

11.  Which of the following is a factor of the polynomial?
45cw + 63cz — 20dw — 28dz

A) 9¢c —7d
B) 9c + 4d
C) 5w+ 7z
D) 5w —7z

12. If y represents a number, which equation is a correct translation of
the sentence?

30 subtracted from 7 times a number is 4.

A) 30— 7y =4
B) 7(y — 30) = 4
C) 7y—30=4

D) 7(30 —y) = 4

13. Solve for x.

x+4 x+9
2 3
A x=1
B) x=5
C)x=6
D) x =14

14. Solve for x.
18 —-5x = -3(x—2)

A) x =10
B) x =6

C) x=-12
D) x =12
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You are allowed to use a scientific calculator on this exam.

15.  What s the value of the x-coordinate of the solution to the system of

equations?
2x+ y=3
—-5x—-2y=4
A x=7
B) x =-10
C) x =10
D) x =-7
16.  Solve for x.
z=5x—-7y
B) x = _2—57y
Z
C) x= T+ 7y

D) x =5(z+ 7y)

17.  Find all solutions to the equation.
x*+2x =15

A) x =3o0orx =-5
B) x=—3o0orx=>5
C)x=3o0orx=>5
D) x=—-3o0orx =-5

18.  What is the value of x in the right triangle?

4 X
6
A) V10
B) 2V/13
C) 10
D) 2v/5
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You are allowed to use a scientific calculator on this exam.

19.  Find the graph of the solution to the inequality.
2x—-3>5x+6

- | — @
1 il
A) 5 4 -3 2 -1 ¢ 1 2 3 4 5§
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B) 5 -4 3 -2 -1 9 1 2 3 4 5

D) -é-;q-g-z10£zz4s:
20. Given a = 3 and b = —1, evaluate the expression given below.
ab — b?
A) —4
B) —2
C) 2
D) 4

21.  Which of the following is the graph of the equation?

5x+3y =-15
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You are allowed to use a scientific calculator on this exam.

22.  Find the equation of the line passing through the points (—1,7) and
(2,—8). Write the equation in slope-intercept form.

A) y=-5x+42
B) y=-5x+7
C) y=>5x+12
D) y=5x—18
23.  Find the equation of the horizontal line passing through the
point (=5, 3).
A) x =-5
B) y = —%x
C)y=3
D) y=x+3

24. Find the slope and y-intercept for the graph of the equation.
6x—7y =35

A) Slope= g and y-intercept = (0, —5)

6 .
B) Slope= — 5 and y-intercept = (0, —5)
C) Slope= % and y-intercept = (0, 35)

D) Slope= —% and y-intercept = (0, 35)

25.  What is the slope of the line graphed below?
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A) -2

B) —4

C)%

D) 4
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You are allowed to use a scientific calculator on this exam.
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Number Answer
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